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Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x10=10

oo fill eRPTRA fStoR ©8q  or X A1 «bT TS
fot

(@) Who was the ruler of France during the
French Revolution?

10! {299 TS FHE G @I SfRe 2
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(b)

()

(d)

(e)

(9)

(h)

()
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(2)

Who wrote The Spirit of Laws?
The Spirit of Laws GRIC1 b+ iz 2

To which dynasty did Louis Philippe
belong?

a2 el @ IR ifee 2

Who invented the ‘Spinning Jenny’?

‘Feoifr @R’ e SfezR SRR 2

What did Rudolf Diesel develop?
Fo flrace & owe o Shmiike ?

Who patented the Kinetoscope’?
‘Kinetoscope’ Gl (?I6% (patent) (2@ 2

Who assassinated Archduke Franz
Ferdinand?

T Flg FHAGT @I 2991 FRRE 2

Who founded Young Italy’?
232 211 (R 9107 FIARE 2

Who founded the Irish Socialist
Republican Party in 18967

srsu Bd@ Irish Socialist Republican
Party CFIC1 ZI7 el ?

( Continued )

0)

(3)

In which year did Germany emerge as a
separate nation?

@ BTS G37 AF o TRoreel wREE S
2f%# 2

2. Answer the following questions in brief :

2x5=10

ero fidl 2PPTRd e B fid

(@)

(b)

(c)

(d)

(e)
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Who was Necker?
TP I HifRe 2

What was the Quadruple Alliance?
POCIE (JAPRY (Quadruple Alliance) &
ifRe 2

What is capitalism?

“ATe@W T 162

What was the Carbonari Movement?

IR SieweE & wiie 2

Define social class.

TS @ &2
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(341) (S)

3. Write short notes on any four of the 4. Answer any four of the following questions :
following : 5x4=20 10x4=40
we1e fcard & e Bifker e oee v Gt ford - o 2PTRd R e v Ted e
(a) Voltaire (a) Discuss the causes of the French

Revolution.
SCEHA )
0! Rera PR e 41 |

(b) What was the role of women in the

(b) July Ordinance French Revolution?

SR ST T Rerae Ifepreer e g wifee 2
(c) Write a detailed note on the ‘Continental
(c) Agricultural Revolution in England System’.
2GS R Rad TN e’y Ry @bl 3z G o |
(d) Analyze the causes of the failure of the
(d) Decline of Feudalism Concert of Europe.
T A Q7 fReperor FATTR o 41 |

(e) What were the factors that influenced
the Industrial Revolution in England?

wege Fy Reee aele ¥ IR 3

(e) Zollverein

: Hifee 2
() Discuss the causes and results of the
() Battle of Sedan Austro-Prussian War.
ORI TS B-2FfRE YA PR SIE TR, HCAA
F4q1 |
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(6)

(g9 Give a detailed account about the
Bourgeoisie.

RPN KA o1 322012 G fosi |

(h) What changes were brought in the
social and gender structure of Europe
as a result of industrialization?

SUANFIT Fo© @R W WEF (o
TR RTINS @GR “fRas Sif3fes 2

* Kk
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